ECE3031 Assignment #4 - Due on Fri. Mar. 2, 2018
1. Your company plans to purchase a wave soldering machine at a cost of $260,000 with a service life of 8 years. It has a salvage value of $40,000 at the end of the 8th year. What is the equivalent annual cost of this machine, considering the interest rate of 7% per year?
2. Two alternative capital investment options are considered for small electrical generators based on renewable energy: (1) installing a 10kW small wind turbine, or (2) installing a 15kW photovoltaic (PV) system. The costs and the revenues of the two options are presented in the following table.  Which option is better based on engineering economics, at a 7% discount rate? 
Notes: 
The maintenance costs are ignored. Electricity Revenue and Salvage Value can be regarded as negative costs.
	
	Installed System Cost
	Electricity Revenue
	Life Span
	Salvage Value (Revenue)

	(1) Wind turbine
	$50,000
	$2,800/year
	20 years
	$5,000 at end of Year-20

	(2) PV system
	$45,000
	$2,260/year
	30 years
	$0


3. Think about the following scenario, but no need to actually work on the solutions and no need to submit:

What would happen for Question 2., if the Electricity Revenue is the $2,800/year for wind & $2,260/year for PV in the first year, and will increase at a rate 2.5% per year in the future years? (Every else remains the same.)
